3.

}

M

S C M :

S Ve,ye S sy=1y
H#oM : M O 2-number
= sup{#S | S

S :

& oM = £S5
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A(C M)
rc A= AC F(sg, M)
rll A
A




#o M :

72— OO

Jz € A;(i=1,2,...)0000

A; C F(sg M) = | | M
j=0
A; = U A; N M

7=0

3j lim #(A; N M;") = oo

11— 00

#:M" =00 00000000000
Jooooooooog .. 00
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{x,—x} : S”

4,8 = 2

R P2

Rel o Rez, Reg




GT(KT—I—n)
{{eis.--5€i }x}
: G (K"t)

1y (KT = (T N ")

r

n > 2




F M) = |rl M
(309 ) )
. J

71=1

#Ha2M < Z #o M
7=1 :



(Chen-Nagano)
(G, K) : Riemann
rk(G) = rk(K)

= #2(M) 2 x(M), M =G/K

M : Hermite

= #2(M) = x(M)
A: K

A: G
vEaexpRv: A
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v G/K
F(A, M) ={x€ M | v, =0}
v 1
Poincaré-Hopf
X(M) = #F(A, M)

x € F(A, M) Sz € A
F(A, M) :
(M) = #F(A, M) < #(M)
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Hermite

F(so, M) = | J M}
j=1

Hermite




N
M

lattice

(00)
M R
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(Chen-Nagano)
M, M’ :
f:M — M :
deg f :
= #HoM' = #,M
deg f
m < n

#2(S™ X S™/75) = 2(m + 1)
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T Ay |r € ZReg,yE Z Rej, |x| =

{xej Nempir; [ 1< <m+1}
JIERERERERE
4, (8™ X S /73) = 2(m + 1)
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